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Note  : Answer From Both the Section as Directed. The Figures in the right-hand margin indicate maks.

gvg / Section—A
we 1—fEfoiad awgfs el @ SR AT 1X10
Answer the following objective type question:-
(a) NS SUEHAT GRYT” P RATIAT B g2
When was the “National Productivity Council” established?
(i) 1926 (i) 1958
(iii) 1962 (iv) 1970
When was the “National Productivity Council” established?
(b)  ATH—IMTHIRT B AT FEA UBel fhaq 3Ry &)?
Who started the profit-sharing plan first?
(i) 87 TH. A®eiaR Shri M. Leclayer (i) st 379 Shri Henry

(iii) 87 e Shri Robert (iv) Y TS AT =T Shri Gulzari Lal Nanda
(c)  oienfire deel &1 wa BT 27 Effect of Industrial Relations are seen?

(i) SET @R In Industry (i) gR&T R In Security

(iii) Rerfd @R In Status (iv) 375 & 13 781 None of these

(d) fge wRAT 5% Ha S 3 RO e a8 gg?

All India Trade Union Congress was established in which year?

(i) 1910 (ii) 1915
(iii) 1920 (iv) 1925

(e) 3irenfis fdarg iff g fa af 917 In which year was the Industrial Disputes Act made?
(i) 1950 (ii) 1947
(iii) 1930 (iv) 1955 '

(f) HRYMT JfRAF9 {7 a8 g71? In which year was the factory Act made?
(i) 1948 (ii) 1952
(iii) 1950 (iv) 1954

(g) P Iog d aff af ® : Employees state Insurance Act belong to which year :
(i) 1945 (ii) 1952
(iii) 1948 (iv) 1954

(h)  |mEIfSTeh YR BT I & : The aim of Social Security is :
(i) afegff  Compensation : (ii) g: ¥I9=T ) Re-installation
(iii) fraReT Prevention (iv) SwRra &+ All of the above

(i) %9 B & U & : Aspects of Labour welfare are :
(i) enffd  Economic (i) |rIfRTe Social
(iii) o Nfd® Political (iv) SuRIaT w4t All of the above
(i) a1 SR i 7 @ 9917 In which year was the child Employment?
(i) 1935 (i) 1938
(iii) 1940 (iv) 1944

v 2—fAfeRa dg-SaRa Al & SaR QR 2X5

Answer the following short-answer type questions:-
(a) 59 & ITgHar 1 @ et 82
What is the meaning of productivity of Labour?
(b) 591 " 3riQIe FaT 8?

What is Trade Union movement?




(c) shenfire wnify aar 87
. What is Industrial peace?
(d) ETIfT gRem &7 oref qarsy |
State the meaning of social security.
(e) AfZT s/ B IR WG FHHY 15 |
Describe the four main problems of woman’s Labour.
9vs / Section—B
fafaRen d-—Saky v & IR AfRTT— 12X5
Answer the following long-answer type question:-
g8/ Unit—1

T 3—ATH—3TIRIGT | 37U FIT FHSIA 87 SHD! IS BT It DI |

What do you mean by profit-sharing? Explian its obstacles.
3rerar(or)

frafafea # 9 sl @ wR wfera fewfordt fafag |
(a) ScuTE@Har Td Horgdl # Hay
(b) woTgR Td wify
(c) 7o SR & BT
Describe the main incidents which one seen at the time of civil disobedience.
(a) Relationship between wages and productivity
(b) Wages and Inflation
(c) Causes of wage difference.

3315/ Unit =1l
TS 4% WY B TE Il T4 BRI B qoi P |
Describe the main objectives and functions of Trade Union.
3rerai(or) :
9 Y QAT DI IYATKAT UF ARl IR THTT SIferg |
Throw light on the achievements and failures of Trade Union movement.
g®18 / Unit =1l
7ee 5-9RA ¥ 3eNfie fal & sRel o g Biftg | sienfie sl o gasm & fog
gema QT |
Discuss the causes of Industrial disputes in India. Give suggestion for the settlement of industrial
disputes.
3rdi(or)
AHfeS Aicqroll | AT FT FI3 57 FAD] ATLIDAT U9 Haed R Tbre SIfer |
What do you understand by collective bargaining? State the need and importance of collective
bargaining.
g®15/ Unit—1V
We 6—HRA H QRIS GRAT 3 fafi=1 ol &1 quie $iforg |
Describe the different schemes of Social Security in India.
3rerai(or)
mﬁmwmﬁaﬁwéwmw%?mmﬂwmaﬁwa%w
|
What are the main causes of failures of Labour welfare works in India? Give suggestions for the
success of Labour welfare programme.
go1s / Unit-V
Ue 7—4 9I0IR R JLEHROT B J1a1 BT Iooid DIFTY |
Explain the effect of globalisation on Labour market.
3reqqi(or)
FHEIRTS 9T | A T {27 I b qral & wrifore gRem @ e 87 wmiifoe i1 & Seed
Pl Agcd qAd1gy |
What do you understand by ‘Social Insurance’? How does it differ from Social security? Mention the
aims and importance of Social Insurance.




